) Why didn't the two 4's feel like dinner?
Mrs W's Maths 7 Because they already 8.

MORE mixed addition and subtraction revision.

1 Calculate the answers to these
438 - 177 =
698 + 301 + 1089 =
8236 + 421+ 630 =

(780 +26) - 400 =

2 Use these digits O113|| 111 7] +o complete the number sentence

2345+102> jE

Challenge - can you work out all the possible answers?

3 There are 6128 passengers on a ship.
2503 are women, 2811 are men and the rest are children.
Complete the bar model to show this.

| | ?
How many children were on the ship?
MORE Emoji code breaking
- e %ue - < & 5< L3 ww | 5
2 3 4 9 6 0 8 1 7 5
000.600 PO S0 .

3‘
(
:
(
:
{
(
(
:
a




